IamepeHne oTpes3koB
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IamepeHne oTpe3KoB

3agada Ne 1
oM 9 cm . [laHo:
EEe—— AB=6 cm,
? BC=9 cm.

Hauntu: AC.



IamepeHne oTpes3koB

3agada Ne 2
?
g Ry :
E HaHo
= K P MP=12 cm,
KP=3 cm.

Hantu: MK



IamepeHne oTpes3koB

3agada Ne 3
6,4 c™m 3,9 c™m D.aHo:
O O
E F DF=9,3 cm.

Hantun ounoKy.



9 cwm.

IamepeHne oTpes3koB
3agada Ne 4

[laHo:
KM=9 cm.

[N=8 cm
KN=12cm
Hantu : LM



IamepeHne oTpe3KoB

3agada Ne 5
[1aHo:
FT=11 cm.
=3 HD=9 cm
< 5cm
S HT=5 cum

? Havntun : FD



IamepeHne oTpes3koB
3agadva Ne 6

[laHo: AB=CD
T T T | AC=BD

AP ° P Mokaszarts : AC=BD



IamepeHne oTpes3koB

3agada Ne 7
S A K [OaHo:
? ? KP-PE = 3cm
KE=21cm

Hautun : KP,PE



IamepeHne oTpes3koB

3agada Ne 8
J1aHO:
D E = DF= 24cm

W FE=3DE

> > Hauntu : FE DE



IamepeHne oTpes3koB

3agada Ne 9
R HaHo:
A B b AB= 28 cm
? “ AC:CB=4:3

Hautun : AC,CB



IamepeHne oTpes3koB
3agada Ne 10

[laHo:
_ __ AB=BC. CD=DE
O OOt Ot )
Ae ¢ D = AE=20cm

Hauntu : BD



